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&g i 3 BT 3 6%}5& Udh G D 12‘@[4;,” ERINIE % d

A3 & AU g DT 3G HT g2

The average of ten numbers is 6, If each number is multiplied by 12, then
what will be average of the new set of numbers?

20
a) 28
b)
C) 36

0:4 5N I
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£ 144 _ 144
0.144

23] e}

144
0.144

HAS

a)
b)
C)
d)

— then what will be the value of x?

:%?ﬁxchluw FIT BRI

0.0144

0.144

1.44

14 4
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3o, fashH 3R a5 & 9d= &1 3UId 2 - 3 : 55| Tl 37 da-d H HHTT:
15%, 10% 31X 20% P! dla I Al g, dl AU da- DT 3{-Urd &1 G2

The salaries of Arjun, Vikram and Vijay are in the ratio 2 : 3 : 5. If increments of
15%, 10% and 20% respectively are allowed in their salaries, then what will be

the ratio of there new salaries?

a) 3:6:10
b) 23:33:60

C) 21:03:60

d) 23:35:60
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A and B together can do a piece of work in 6 days. If A alone can complete the
same work in 10 days, then in how many days can B alone complete that work?

A 3[R B UHO1Y Th B Pl 6 fel T d Odbd ¢ | afc A 3fdbd I B BT 10

[l T URT PR IHdl ©, dl B 3fbdd 39 DI Bl fobd- fG-l H G HR Gabdl g2

a) 12 days
b) 13 days
C) 14 days
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A= ue [ gl o1 al-fdgrs URT 4 fdhHi/eer ot id I 3R [N YRT 5 fhHi/EeT
DI T I 1 9 24 [ T T DAl ¢ | D g3l ITd DI

Monish covers two-thirds of a certain distance at a speed of 4 km/h and the
remaining part at a speed of 5 km/h in 1 hour 24 minutes. Find the total

distance.

a) 6 km
b) 6.5 km
C) 8 km

HAS

d) 0w
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U U3, Uh Hfgdl 3R Uh dodl Udh HII Dl UL 2, 3 3R 6 faA1 J HR
Hbd g | D1 Dl e feT T I B & (AU 1 G2 3R 1 Afgdl b Ygrdl
& T b d- dsdl DI HTARD I g2

A man, a woman and a boy can do a piece of work in 2, 3 and 6 days
respectively. To complete the work in half day how many boys are need
to help 1 man and 1 woman?

a)
b) ©
c)

d) 10

HAS
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&l i 9dig daHl A 3R B I 591U 5 : 2 & 3(U1d | & 3R 39D BHdls
7 :5% IUId H g1 9% A 3R B & dh USIT &A%l D1 3-IUrd FiId
DIy

Two right circular cylinders A and B have radii in the ratio 5 : 2 and their
heights in the ratio 7 : 5. Find the ratio of curved surface areas of curves

A and B.

a) 2.7
b) 7:2
C) =5
d) s.-

HAS
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If X° + (1/x%) = 23 and x > 0, then what is the value of x + (1/x) ?

gid x2 + (1/x2) = 23 R x > 0, Al x + (1/x) B A T g2

HAS

a) -
b) -
C) -
d) .
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Which of the following numbers is the terminating decimal?

[Faferad O O o 3t T 9id <ddd o7

a) 3/7
b) a/7
C) 1/2
d) 2-

HAS
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I ATDH Bl Bl 18 e § YR Ihdl ©, B 39 36 fic § 4R O&bhdl © 3R
C 33 54 e d W O@drg | 7d A 1 1 i & folw @didr a1 39 916 4

[T & T 9a B @IdT ™1, 3D d16 Hd C Gidl A7 bl bl U H
fh -1 IHY (I8¢l H) dimn?

Tap A can fill a cistern in 18 minutes, B can fill it in 36 minutes and C in
94 minutes. Tap A opened for 1 minute after that tap B was opened for 4

minutes after that, tap C is opened. What is the total time (in minutes)
required to fill the tank?
b) 50

c)
d) ..

HAS
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The efficiency of Ram is twice that of Rahim. Ram can Complete a work
iIn 6 days. In how many days will Rahim complete the same work?

M DI G&dT I6iH I GRHN g | MM U B Dl 6 fa1 H U1 HR Jbhdl 6|
eI M B Bl fdbd- fa-! T gr1 Sm?

a) ©
b) =
c) =
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ST Uh AT H 20% DI g glcll € 3R fh 20 & Sl il & o g4 160
UTWd BIdT o | If Udh I-AT 20% 9< Sildl g 3R 20 §¢ Sl ©, dl 8+ o
UTCd BT

When a number a increase by 20% and then decrease by 20 we get
160. If a number decreases by 20% and increases by 20, what will we
get?

a) 144
b) 140
C) 152
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While selling 5 m cloth, the profit earned is equal to the purchase price
of 2 m of that cloth. Find the profit percentage earned.

5 Hicx HUST sdd IHY, 3ifSid a4 39 HUS & 2 HICR & Hd Hed &
SRR g | 3ifoid ar ufa=ra 1a Siforel

40%

a)
b) 30%
C) 45%

HAS

d) 33%%
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If the sum of three numbers x,y,andzis87/0and x:y=2:3,y:z=4:3, then
find the value of x.

gie dF B3l x, y, IRz BIART 870 IR x: y =2: 3, y: z=4: 3 5, dl x DI HM

J1d iforg)
a) 440
b) 232
C) =240
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120 Tilex & YU H, G 3R Gl T 3Urd 5 : 1. Tl 5 Urd Bl 1 : 4 PIAT 6,
dl 31 §gTs S arcl U1 @l HET 941 g2

In a mixture of 120 liters, the ratio of milk and water 5 : 1. If this ratio is to be 1 :
4. then the quantity of water to be further added is?

a) 260
b) ss0

0:4 5
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The quantity of water needed to reduce 18 ml of sanitizer containing 50 percent
of alcohol to a lotion containing 30 percent of alcohol is:

AfFegoR & 18 [Adidie | 50 Ufdd 3fcdhigd &I dH ®Id 30 UfdRd ichigd
gad °Id &1 & {8 gl i fdd-l JET Sa0d g2

a) 6 ml
b) 1oml
C) 12mi
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The difference between 15% increase and 10% decrease of the same number
s 50. What is the difference between 10% increase and 5% decrease of the
same number?

A I H 15% qf@ 3R 10% DHI & dId BT 3R 50 g | THH AT H 10%
dia 3R 5% HHI & did DT 3HdR HT 67

a) 10
b) 20
C) 30

d)

90
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3R 3R YU Pl I DT 3UId 2 : 3 5| IId I1d dla, 3P DI 1Y 25 ATd
gIvil| Wdig I adu- Sy :1 672

Ratio of Ashok’s age of Pradeep’s age is 2 : 3. Ashok will be 25 yr old after 7 yr.
How old is Pradeep now?

a) 18yr
b) 21 yr
C) 27 yr
d) 24y

HAS
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By selling 16 ball pens, a shopkeeper earned a profit equal to the cost price of 5
ball pens. What is his profit percentage?

16 dIcl U4 dgHR, Uh GhHaR 7 5 did U9 & hd Hod & aRI&R 14 ST
3PT ATH UId=Id T 872

a) 31.25%

HAS
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OTd Dl (IS ¢-RIRT Ul a4 10% TRV 4161 Bl &R R D! Sl ©, dl g1
Tee AR DT 1/4 YT A6 & =Y H d1gdl g | fbd auf T g1 1 39b1 difesd
TS YT I |
Sunena wants 1/4™" of the principal amount as interest when certain sum of
money is kept at 10% simple interest per annum. In how many years will
sunena get her desired interest in Rs?

a) 1.5 Years

b) 2.0 Years
c)

3.5 Years
o d)
4 Years
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8 women and 8 men can complete a task in 10 days where a woman is twice
efficient as a man. Find the time taken by 12 men to complete the same task.
8 Higdl 3R 8 YN Udb H1H @[ 10 &l T URT HR Tdhd ¢ Slel Uh Higdl Uh g3y
3 GIHI G&f © | dl FHH H1H Dl ORI HI b U 12 YNl gRT ferdr a1 6y J1d
DifoTul

HAS
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If the side of the square is increased by 10 cm, then the area increases by 500
cm?. The side of the square is:

gic qi I Yo I 10 Y I/ SIIdl o, <l &Ahd 500 JHI2 dd d¢ SiIdl o | 9¥ Bl

YOI JTd DIfoTU|
) 21 IH]
d
b) 19 IH1
C) 25 IH]
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The marked price of an article is 30% more than the cost price. If the discount
offered is 30%, then find the gain or loss percentage.

U g @ 3ifdd e, hd Hed I 30% 3H8d g | gl ¢ DI URBRI 30% o, dl
AT A1 g1 UidId J1d Sifou

a) 1%
b) 13%zf

C) 9% Bl
HASY o ..
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There were two candidates in an election, 10% of voters did not vote and 48
votes were found invalid. The winning candidate got 53% of all the voters in the
list and won by 304 votes. Find the total number of votes enrolled.

Uh g1 | &l 3HIGdR U, 10% HAdaldisii 4 Od =gl [¢d1 3R 48 Hd 31d¢ YU Y|
Sl ald SWIGAR Dl Had Adaldrsdl &I 53% fHe 3R 304 Hdl  Sild gIRid @l |
AMHifbd Tdl bl el AT ITd DIfSTT|

) 1600
b) 1230
) user

d)

1653
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Kunwarpal distributed his salary of Rs. 60000. to his son and daughter at 10%
interest and 5% interest for 4 year and 2 year respectively. he got the same
simple interest on that money from his son and daughter. Find the share of son
and daughter.

$HIRUTA - 39 60000 YT & dd-1 Dl Y- U 3R Gl & &l hHRT: 10% AR
5% & oIl U 4 98 3R 2 9y & fefu f3ar 39 AR R 39 314- g 3R Gl I

JHA IYRUT TS YT SR U 3R Gl D1 [e=AT1 J1d DI |
d)

Rs. 30000, Rs. 30000

Rs. 10,000, Rs. 50,000

Rs. 40000, Rs. 10000
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Height of different students(in cm) is 102, 104, 87, 97, 109, 117, 119, 99, 101,
103, 93. Find the median height of all the students.

[ Sl @ Sdrs (IH H) 102, 104, 87, 97, 109, 117, 119, 99, 101, 103, 93 &
Gl S DI Hdlg DI ANLDT JId DIfor |

a) 87
b) 93
C) 99
HASY o -«
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In the school of 350 students, 50% student pass in science and 30% in social,
20% passed in both the subjects. What is the number of students who passed
in at least one subject?

350 ®HI & Wd H, 50% B [931H H 3R 30% JrHMSid H 30l §U, 20% Gl
fqe) & I<iiv] U1 HH--5H Ud (AT § IJ<ilvl g4 ardd SE1 I T fdhd-t 57

a) 250
b) 210

0:4 SN
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If 43X+ 2 =16 then find the value of x.

gfc 43%+*5= 16 dl x &1 AMF JTd HIfo10

X
a) 2
b)
c) ~
HAS o -
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The distance between Bhopal and Indore is 1250 km. Both buses start from
Bhopal and Indore towards each other meet after 10 hours. Find the speed of

the bus from Bhopal if the speed of the bus from Bhopal is 25 km/h more than
the bus from Indore.

YT 3R $aR & &g B g2l 1250 fHHT g1 &l 99 HIUTe 3R $aR J Uh-gix Pl
3R SIIdl § Sl Uh g A 10 ©¢ & d1¢ [HTddl g | HIUTd d & D1 T JATd DIfoTy
Tfe HIgTa I &9 I T1fd, SaR O 99 &I 71fd I 25 feHi/Her s g

a)
50 km/h
) 60 km/h
C) 75 Km/h

d)

90 km/h
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If P: Q= 3: 2 then find value of (P2 + Q%) : (P2 - Q?)

G P:Q=3:2dl (P2 +Q?): (P?— Q?) &I HH JId PIfoT

13:5
a) 717
b)
C) 17 : 7
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If the volume of hemisphere is 4 times the volume of sphere Find the ratio of
radii of sphere and hemisphere.

gfe Tielrel o1 I, T & HRIGA I 4 TH1 6 dl TTid 3R i bl 41 o
YT I DY

a)
b) 1:8

0:4 5 RIS
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The selling price of an article is Rs. 25. The value of loss% is the same as that
of cost price. Find the cost price of the article.

Uh axd Pl [dshd & 25 3U 5 | 1% 1 U Hd e b HH o JHH g | 9¥d Pl
g eI T DI |

100
a)
b) 50
C) 150

HAS o
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A bag contains four types of coins Rs.1, 50 paise, 25 paise, and 10 paise in the
ratio 2 : 3 : 4 : 5. If the total amount of 50 paise and 10 paise coins is Rs.400.
Find the total amount of Rs.1 and 25 paise coins.

U & H IR UHR 1 394, 50 U, 25 U 3R 10U b Righ 2:3:4:5F
3urd H © Ife; 50 0R 3R 10 T & Ryl @ B AR 400 3GY 51 1 39 3R
25 U & Ryap| I Hd AR F1d DI

a)
b) 500

0:4 5

600
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Ajay traveled equal distances at speeds of 20 km/h, 60 km/h and 4 km/h and
took a total time of 38 minutes. Find the total distance traveled in km.

3{o1g 20 fobHireer, 60 fobdil/eer 3R 4 fhdi/er o d ¥ THgHE gLl 98 Hdl o
3R Hd 38 [ BT IHY ddl o | I Dl T Dd ol [bH! H J1d DI

a) 2 km
b) 3 km
c)

6 Km
0:4 5 I
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Pipe A can fill a tank in 40 minutes and Pipe B can empty the same tank in 60
minutes. Find the total time taken by A and B together to fill the tank

gsy A, TF ¢l Bl 40 e H ¥R dbdl § 3R U534 B 331 ¢l &l 60 e H
@Il R bl gl A 3R B GRT TP 1Y Tl Dl YR H {11 1 Hd 999 J1d

[ Y
oy |

57)

a) 150 minutes

b) 120 minutes

C) 140 minutes
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Sumit is five times more efficient than Rohit and can finish a work in 40 days
less than Rohit. In what time they together can finish the work?

ﬁﬁ:-‘l?f Afed &) a1 & gi= T &ﬁﬁfﬁaaéﬂmﬁ%ﬁﬁwﬁm g Hu o
BT RT HR Ahdl gl THATY d [da- JHT H B URT PR A 672

a) 53
b) 73
C) 48/7
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If the length and width of a rectangle are (4x + 3) cm. and (3x — 2) cm.
respectively, and the perimeter is 44 cm. Then find the ratio of length and width
of the rectangle.

afe U 3f1d B Ty SR dISTs HHTT (4x + 3) THT 31k (3x — 2) GHI €, 81R
gAY 44 4T 5| dd 3 DI dels 3R ISl dI 3IUId J1d DI

a) 13:9
b) {:4

0:4 5
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Find each of exterior angles of a regular polygon of 10 sides.

10 HSIT3[ 9Tl Uh JH dgySl DT YA D &1gT HIUT JTd ifor |

38°
a) .:,
b) 18
c) 36°

HAS

d .
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The curved surface area of a cylindrical vessel is 264 cm?. If the height of the
vessel is 12 cm then find the volume of the vessel.

U JA-IPR dci- Dl deb UY &Ahd 264 JHI2 g1 e a4 Bl SHdlg 12 J41 g dl
dc DT 3 ITd HIfSTU)

231 cm?
a)
b) 400 cm?
C) 462cm’
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Find the value of 200 + 15 x [12.5% of (1/5) of \(57600)].

200 = 15 x [(1/5) DI V(57600) PT 12.5%] HIH ITd Difoid |

18/5
ta))) 80
C) 84
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If secO+tand =43 (0°<0 <
90°), then tan 360 is

1
(1) undefined (2) ﬁ

(3) % 4 J3
C)
HAS ¢
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If sec ® + tan 6 = 2 + /5, then

the value of sin © + cos O is :

3
M 75 2) {5
4 1

® 5 @ T3
b)

c)
d)

HAS
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2

If cos* 6 — sin®* 6 =3 then the

value of 1 — 2 sin?0 is
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If sec (70 + 28°) = cosec (30° -
30) then the value of 0 is

(1) & 2) 5°
(3) 60° 4) 9°

0:4 S



=) %Wd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

If tan20 . tan 40 = 1, then the

value of tan 30 is

(1) /3

(3) 1

HAS

(2) O
1

(4) J3
b)

CTTPC CBT 2

d)
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If cos?a + cos?*f3 = 2, then the val-
ue of tan® a + sin® B is :

(1) -1 (2) O
1
3) 1 (4) ﬁ
5
NTPC CBT 2
C

0:4 S
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Find out which of the following sets form co-prime numbers.

31 X b (9 T I B A1 GHg He-31HST FATU §-1d1 g |

NTPC CBT 2 (Held On: 18 Jan 2017)

(12, 7)
a)
b) (21, 42)
c) @9
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The monthly salaries of P and Q are in the ratio 4 : 3. If P and Q get an increase
of 10% and 5% of their existing salaries respectively, what will be the new ratio?

P 3R Q &I HI{® ddq 4 : 3P 3UId H g1 gl P 3R Q I 34D Hisal dd
o AR 10% 3R 5% Dl i gidl &, dl =1 3=4rd 1 g2

NTPC CBT 2 (Held On: 18 Jan 2017)

a) 88 : 63

b) 63 : 88

C) 45 : 60
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In a class of 135 students, the number of boys is twice that of girls. One-
sixth of the boys and one-third of the girls failed in the final examination.
Find the percentage of students who passed the examination.

135 DTHI DI Uh H&T H, dSh| bl I dsidbd] bi ga-T H -l o | 3ifdd
QRI&T | 1/6 ASD 3R 1/3 AS(HAl OB d Ig | AT 30T B ard S|

BT Ulfd=rd JATd B | NTPC CBT 2 (Held On: 18 Jan 2017)
0
a) 75%
b) 7145%
C)  7778%

d)

81.23%
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The simple interest at 10% p.a. on a deposit for 2 years is Rs. 4,000. If
the interest is compounded on an annual basis, how much more will be
the amount of interest?

10% Ufd 98 @1 & 1 2 a9 & ferg fobit ST A IR IR0 15T 4,000 0
¢l ale gt 3HIUR UR dhdia TS TRIT ST, A1 sATS i AR fbaHl

3iferep gifi? NTPC CBT 2 (Held On: 18 Jan 2017)
a) Rs. 200
b)
Rs. 240
c)

Rs. 220

HAS

d)

Rs. 190
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10 men and 5 women can do a work in 60 days. If one man can do the

work of two women, how long will 5 men and 20 women take to complete
half of the work?

10 oY 3R 5 AfgdU 60 G-l T U H1H B ddhd 6| dlc Uh Yy al

Afg T3]l BT BIH HR Abdl ©, dl 5 G3N| IR 20 AT Bl YT B1H U]
B I foa-r 9ag e

NTPC CBT 2 (Held On: '58 Jan 2017)
d

b) 36

0:4 SR

25
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15 persons can complete a work in 60 days. If the number of persons is
increased by 5, how many days earlier will the work get completed?

15 SAfdd 60 f&-1 H U & U1 aR Javd & | Il fadal o G 5 3R
Hfaqdl I gls DI I ©, Al PH fba- fad ggd URT 8l ST

NTPC CBT 2 (Held On: 18 Jan 2017)

a) 20 days
b) 10 days
c)

15 days
_ d)
45 days
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TET3M Bl 3faUs! HhH H AR By

Arrange the numbers in descending order:

2411, 43, 315, 512
NTPC CBT 2 (Held On: 18 Jan 2017)

5V2, 43, 35, 211

3V5, 43, 5V2. 2411

211, 4V 3, 3V5, 572
m 41:'3’ 3.1‘:'5! 2"%‘:‘1 1 ’ 5%"2




/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

Evaluate: (sin 30°/cos 45°) x (sin 45°/cos 30°)

™ ™

D] PISTT: (sin 30°/cos 45°) x (sin 45°/cos 30°)

NTPC CBT 2 (Held On: 18 Jan 2017)

HAS

a) 1
b) 1/2
C) 12

d) 173



@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

Find the mode of the following data :
FgfciRdd Se1 &1 dgad 1d HIfor:
100, 120, 110, 90, 120, 140, 130, 120, 110, 100, 90, 140, 120, 100

NTPC CBT 2 (Held On: 18 Jan 2017)

a) 100
b) 120
c) 90




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

The length of a rectangular board is 4 times that of its breadth. If the area
of the board is 256 sq. meters, find its length.

U PR dls P ddlg o9D| dIsls DI 4 T ol Tl dis P &Thd 256

g1l Hiex g, dl sUd! ddlg J1d Hiforg]
NTPC CBT 2 (Held On: 18 Jan 2017)

8m
a) 16 m
b)
C) 24 m




méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Speed of a boat in still water is 12 kmph and that of the current is 3 kmph.
A man rows a boat upstream up to 135 km and returns downstream to the

starting point. Find the total time taken for the entire journey in hours.

[RR S T U 419 &i 71fd 12 fhHl/er g 9T °4R1 &1 71fd 3 fhdl/der g1 tdh
Hfad YRT & Ulddd 135 fdhHl d@ —1d Iardr g 3R URI & b d URHD
[dg UR a9y 31 STl © | YUl A1 R o (1Y o/l 11 d 93y el H J1d

Bl | NTPC CBT 2 (Held On: 58 Jan 2017)
d 24
b) 48
C) 36

d) 30




=) %Wd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

|f1:———lU then find the value of‘x +1
X Jl’.'
afe A-_—m & ar ”lasrm:r?rraa?’u
(A) 100 (B) 102
(C) 106 (D) 98

NTPC CBT 2 (Held Ona)8 Jan 2017)
b)
c)
d)

HAS



=) %Wd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

6. In a triangle ABC, AB = AC, Side BA is
extended to a point D in such a way that AC
= AD. Then £ZBCD =7

frefsr ABC3, AB=ACdeqT BA® Das o

9% T GiraT ¢ 76 AC=ADE dar 2«BCD &om?

(a) 60° (b) 80°
(c)90° (d) 100°

~1

NTPC CBT 2 (Held On: 18 Jan 2017)

d)




=) %Wd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

7. In an equilateral triangle PQR, side QR is
extended to a point S in such a way that QR =
RS, and also join P and S, then ZPSR =

Uh AAag Brgst PQR & ofom QR & fasg S a
TH UPR TR 9T & 6 QR =RS & e 3R P
B SA Brem R orm degwR, £PSR &1 &

fpaem & omwem ?
(a) 30° (b) 15°

(c) 60° (d) 45°

NTPC CBT 2 (Held On: 18 Jan 2017)

d)




=) %Wd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

8. In an isosceles triangle ABC, AB = AC. Side BA
is extended to a point D in such a way that AB =
AD. If ZABC = 30° 42BCD =?

ABCvs Jafgarg Prger 2, foret AB=ACZ|
39 ofom BA® Dds dg™T I=T & aifes AB =
AD & WU | aggdR, afe LABC = 30° &, at
£BCD f5aa® svaz em ? |
(a) 45° (b) 90°
(c) 30° (d) 55°
NTPC CBT 2 (Held On: 18 Jan 2017)

g O




=) %Wd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

9. Base BC of a triangle ABC is extended
from both the ends and thus exterior angles
formed so are of 120° and 105° respectively

then, 24 =7
T Braget ABC3 sz BC o Q& 3R g

U3 3H UT dof dAI8T BIoT BHAL: 120° Tor

105° 8| aggAR, Breger & efif Hor £A @t
HATer fBasT o 2?2
(a) 36° (b) 40°

(c) 45° (d) 55°
NTPC CBT 2 (Held On: 18 Jan 2017)

d)




=) %Wd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

10. In a triangle ABD, ZADB = 20° Cisa
point on BD in such a way that AB = AC and
CD =CAthen LABC =7

A s ABD#H, £LADB = 20° 3R C, BD

W UH U feg 3, e AB=ACaqgr CD =

CAR, & LABC &1 &t fbder aom ?
(a) 40° (b) 45°
(c) 60° (d) 30°




/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

Mfxsr =-2, then find the value of x*' + L
X

(32
X

qfa' I+l:—2 %, EIT Iﬁ31+% I Al Ald ﬁ'
X X

(A) -1 (B) 0
(C) -2 (D) 2

NTPC CBT 2 (Held On: 18 Jan 2017)




/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

If y—l =4, then find the value of [;ﬁ —%J .
y y

g y-—-4 g A [}’3—%] EFT HATeT FIT greM?

y y

(A) 64 (B) 76
(C) 88 - (D) 90

NTPC CBT 2 (Held On: 18 Jan 2017)




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

A is 50% more efficient than B and 60% less efficient than C. If Aand C
can finish a job in 20 days, then in how many days can B finish the job
working alone?

A, B &1 a1 H 50% 3ifdd & g 3R C P a1 H 60% HH & ol e A
3R C [l drf @I 20 S § R HR Ghd §, dl B 3{hd S Bl fba- el

T ORT HR Pl 872
NTPC CBT 2 (Held On: 18 Jan 2017)
d 100

b)
0:4 SR

110



/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

The LCM of two numbers is 315 and their HCF is 5. If the sum of the
numbers is 80, then find their difference?

&l GRS HT A, 315 8 IR SAPT AT, 5 ¢ | gfc Td=1eff H1IRT80 ©, dl
DT 3R T DIoTu?

NTPC CBT 2 (Held On: 18 Jan 2017)

a) 25
b) 10
C) 15
d)




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

A boy has few coins in denominations of 50 paise, 25 paise and 10 paise

iNn the ratio 1 : 2 : 3. If the total amount of coins is Rs.6.50, the number of
10 paise coins is 7

Uh dodb & U 1 : 2 : 3 D 3Urd H 50 U, 25 U 3R 10 U & e o

Do Rad g | afe Riadl &l $d AR 6.50 3UY g, dl 10 U & Riddh! ol
1 fhd-l g2
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/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWWw.mahendras.org & USE PROMO CODE : E06321 /

If the circumference of a circle is 18.6 cm greater than its diameter, what will be
the diameter of the circle?

gfc U gd P URIY I AT A 18.6 I 319D ©, dd d1 Dl AR [ G2
Lekhpal Previous Year (Held on: 13 Sept 2015 )




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

The HCF and the LCM of the two numbers are 12 and 2448, respectively. If the
difference of the numbers is 60, then the sum of the numbers will be

&l 13 BT HgaH JHUG R TUTH JUYTH hHT: 12 3R 2448 ¢ Tl

TeTeff BT 3idR 60 ©, dd TaTell &1 IRTHd 9T B2
Lekhpal Previous Year (Held on: 30 Sept 2019 )

248
a)
b) 204
C) 348
d)

284



%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

The ratio of the prices of a scooter and a moped is 9 : 5. If the value of a scooter
Is Rs. 4,200 more than moped, then the value of the moped will be-

U WP eR 3R UD HIUS DI BIAAN DT U 9 : 5 51 Ul The DI HIHT AIUS B
DITd I 4,200 34T 3H{4dH g, dd AIUS DI HITd HT1 gIIT?

Lekhpal Previous Year (Held on: 13 Sept 2015 )

a) Rs.5.700
b) Rs 6300

C) Rs. 3,350

d ) Rs. 5,250



%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

The sum of the three numbers is 392. If the ratio of the first number to the
second number is 2 : 3 and the ratio of the second number to the third number is

9 : 8, then the third number will be —
A= GATS DT gRT 392 B 1 Afc Ugdl T T Gax] el I 3Uld 2 : 3§ 3R

ORI T DT AR AT Y 3UId 5 : 8 B, dd IRl FHT gl -
Lekhpal Previous Year (Held on: 13 Sept 2015 )




%aéem{zd ’4,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E06321 /

UdH HIADPR cqa opfﬁtfﬂﬂ@ H1 IRATT 28 Hiex g 3R ITDT &AHd 48
Iﬂ??féw ¢qel & DUl B AT A1 5?

The perimeter of the top surface of a rectangular table is 28 m and its area is 48
m?. What is the length of the hypotenuse of the table?

Lekhpal Previous Year (Held on: 13 Sept 2015)

a) 12.9m
b) 5m
C) 10 m




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

The perimeter of the top surface of a rectangular table is 28 m and its area is 48
m?. What is the length of the hypotenuse of the table?

U AHIADPR cdd b Y Gdg BT R 28 HieT © 3R ITPT &7hd 48

HIe2 5| <dd & HUl Dl Tl 1 o7

Lekhpal Previous Year (Held on: 13 Sept 2015 )

a) 12.5m
b) s5m
C) 10 m
d) 12'm




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

A merchant marks his goods by increasing the price by 25%. If he gives 4%
discount on marked price, what will be his profit percentage?

U [dehdl 391 &3 UR 25% dla HRb Hed 3ifdd Hrdl g | dic a8 3ifbd I

IR 4% Pl T odl &, Al 3BT A1H UTA=Id &1 g2

Lekhpal Previous Year (Held on: 13 Sept 2015 )

10%
a)

b) 15%
C) 20%

25%



/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

If the mean and standard deviation coefficients of a set of numbers are 10 and 5
respectively, so the standard deviation of the group of numbers will be.

gfc T3] & U qHg BT A R HHD (e UMD HHRT: 10 3R 5, dl
=134 & FHg BT AHD [dga- =1 gHI?

Lekhpal Previous Year (Held on: 13 Sept 2015 )




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

If 2% + iﬁ — 23 then the value of % 14 is
" £

afe 22 + L =23 5, dl 24 —cmHHcrqls"?

;E

a) 429
b) 629
c) 527

526



%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Suresh and Sandeep are partners in a business. Suresh invested Rs. 5,000 for
5 months and Sandeep invested Rs. 6,000 for 6 months in the business. How
much will Sandeep get out of the total profit of Rs 610 at the end of the year?

IR 3R &Y U AT H ATaR g | AR HGAR™ H 5 HglHI b [¢lU 5,000 30
3R Halg 6 AglHIl & el 6,000 U @I [H4% HRAI 5| 98 & 3id H 610 39 P D

ATH H alT DT X 3T g :
Lekhpal Previous Year (Held on: 13 Sept 2015)

a) Rs. 410
b) Rs. 380
C) Rs. 400

Rs. 360



/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

The value of is \/15612 + /154 + /225

Lekhpal Previous Year (Held on: 13 Sept 2015 )

115
E)) 125
C) 99
d)




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

The averageofn,(n+ 1), (n+2), (n+3), (n+4), (n+D5)is-

n, (n+1), (n+2), (n+3), (n+4), (n+5) P 3{Ad 3T g7

Lekhpal Previous Year (Held on: 13 Sept 2015 )




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

The three different vessels have different quantities of milk and water mixtures,
measuring 403 liters, 434 liters and 465 liters. What should be the largest

measurement (in litters) so that all the different quantities can be fully
measured?

i1 fafere s o Qo SR it & f8or B S1eT AETE 403 Tiiey, 434 TR 3R
465 dic} | 98 Ja do! |1 (cilex H) o1 g ORIy T A gula: |Jrdt S

Gch?
Lekhpal Previous Year (Held on: 1§ Sept 2015)
21
b) .
c) .




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

720 sweets are distributed equally among the children in such a way that the
number of sweets given to each child is equal to 20% of the total number of
children. How many sweets did each child get?

720 a0l &1 9 § THIHAM 4 9 39 UDR dic] oldl § fb UdP g i al
T} a1l P AT a7l Hl Dol TRHT DT 20% o | YD a=d Bl [ha-t (gl
I E’;ﬁ“ %? Lekhpal Previous Year (Held on: 13 Sept 2015)




/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWWw.mahendras.org & USE PROMO CODE : E06321 /

36 people can complete a work in 18 days. In how many days will 27 people
complete the same work?

Dy T

36 Afdd Udh H1H Bl 18 ol H URT R b © | 27 Aldd JHH D1 Bl fba- fa-)
H R PR D &7 Lekhpal Previous Year (Held on: 13 Sept 2015 )




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

USRI 1 2 98T & forg U A8 ek IR AreRor sare &R fear Siar ¢ 1 afe 59
3% Bl del g5 &) UR a1 Sirdr, di 300 YU 3{feidh UItd gidl & | €-RIRI 1 572

A sum of money is given at a fixed rate for 2 years at simple interest. If it is given
at a higher rate of 3%, Rs. 300 more is received. The amount is

Lekhpal Previous Year (Held on: 13 Sept 2015 )

Rs. 5,000
b) Rs 5400

Rs. 5,300

Rs. 5,500



%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

A, B and C are shareholders in a company. In any one year, A got 1/3 of the
profit, B got 1/4 part, and C got Rs. 5,000. How much benefit does A get?

A B 3R C U® HhU-l H Ir3

aR o [

3R C 5.000 TYY UTtd H3q

U ay H

A

P 1/3 [681, B 1/4 551

gl Afdd-

AT YTt

P

52

Lekhpal Previous Year (Held on: 13 Sept 2015 )

b) Rs. 4,000
C) Rs. 3,000
d)

Rs. 5,000



%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

Raghu travelled 1200 km by airplane which was —i of his total
journey. He covered é of the total journey by car and the rest
by train. The distance traveled by train is

I 1200 [Tl gdTs SIgrsl I IE BT § ol 39D hd AT B

2 fe®1 g1 98 P IET DI - [OXT PR G 3R AW 7 J 7 Dl
g1 ¢ U g &I T &3 1 B2
Lekhpal Previous Year (Held on: 13 Sept 2015)

b) 1800 km
) 480 km
1600 km

800 km



/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWWw.mahendras.org & USE PROMO CODE : E06321 /

What is the height of an equilateral triangle with each side 4 cm?

Ush JHAIE FAYUS Bl Gdls HT1 SR oD Udd Yol 4 JHl g2

Lekhpal Previous Year (Held on: 13 Sept 2015)

V3 cm
a) 2N3 cm
b)

3v3 cm
c}

d) 43 cm



/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

If the ratio of the sides of atriangleis 3 :4 : 5 and its area is
216 cm square, the perimeter of the triangle will be -

Tfe T FAYST I YSIST T 3UId 3:4: 5 T 3R IGDT &%
216 9¥ QAT g, dl FAYS &1 giamy a1 ghm?

Lekhpal Previous Year (Held on: 13 Sept 2015 )

b) 84 cm

) 80 cm

72 cm



/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

The LCM of two numbers is 520 and the HCF is 4. If one of
these numbers is 52, then the other number is

-

amp

al IErsii BT d.9.9. 520 IR AU, 4 ¢ gfc 390 J Udh IHA

52 B, dl GIRI AT 1 572
Lekhpal Previous Year (Held on: 13 Sept 2015)

c)




/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWWw.mahendras.org & USE PROMO CODE : E06321 /

The most frequently occurring value of a data group is called-

b sl & Bl JHg BT oY 38D dR 31 drdl JH Hodldl 6-

Lekhpal Previous Year (Held on: 13 Sept 2015)

Mode dgcid

d Mean HIY

k
Mediar HTfETRT

C
0:4 S




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

The area of a rhombus is 500 cm? and its diagonal has a length of
25 cm. Then the length of the second diagonal will be -

Uh FHAdHS DI &A% d 500 JHI2 § 3R 39D Ud [dhul Bl dals

25 YUl g | dl gaR] [dhul & ddlg 1 g2

Lekhpal Previous Year (Held on: 13 Sept 2015 )

20 cm
a)
b) 50 cm
C) 40 cm

30 cm
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WM‘;// FOR MORE DISCOUNT VISIT Www.mahendras.org & USE PROMO CODE : E06321 /

The percentage of profit earned by two leading
telecom companies in India, namely X and Y,
are given in the following gra

h.
g9 # X 3 Y e agr auft eefteRim
wHul-ral gRT 3t a oy &7 giayra fA=feiaa
ANE U fear T g

=X OY

016 017

(-




/@ W atiendra d/// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E06321 /

What is the percentage change in the profit %
of company Y from 2014 to 2017? )
2014 @ 2017 9k Ut Y o @19 W yfaea

Ufeada =T T&r?2
(a) 11.33% (b) 33.33%
) 2.53% d) 833%

ST UidTeTeh-16.09.2018_IInd Shift

70 <

#zX OY
60

S50

40

30

20

10

2014 2015 2016 2017




=) %Wd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

The following chart describes the sales of four

min the vears 2017 and 2018. ‘
@r-fasr a8 2017 31X 2018 O 9R
IATET o ToIehd oh o) | Teraur gottar 8
Vear Product | Product | Product | Product
IARE | 3K | 3AE | 3dIE
qg
1 2 3 4
2017 28 23 17 27
2018 64 55 46 76
M)
C)

HAS

d)



=) %Wd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

(@)

Find the ratio of the average sales of Product -1
and Product- 2 in both the years to the average
sales of Product 3 and product 4 in both the

years?

AT gul ®H 3dE -1 3T SdARE-2 & AEd
fasra 3fT AT auf # Id@E-3 3T AT -4
T Tasha AT ITTUTd AT il

(a) 85:83 (b) 85:82
(c) 82:85 (d) 83:85
IR uﬁTW—llS.OSLZQIS_IInd Shift
.
Year Product | Product | Product | Product
s ST Sl Sdlq 513" | [+
1 2 3 4
2017 28 23 17 27
2018 64 55 46 76




=) mmd,// FOR MORE DISCOUNT VISIT Www.mahendras.org & USE PROMO cODE : E06321 /

If the mean of the following data is 20.6, then

what is the value of p?

frferRaa 22T 20.6 1 WA §) p T Uod o T §7

x; |10 | 15|20 |25 |35

t (3 (10| p | 7| S
(a) 22 (b) 25
(c) 28 (d) 30

SATATH AiITeTah-16.09.2018 Ist Shift

b)
0:45K *: |



MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The bar chart below shows the production of
different cereals over the years in huddreds of
tonnes. Study the given information and
answer the question that follows.

H=r fa=r =T = fuse a9t 7 fafaas 3=t o6
IAIET <Rl € 29 # uSidia =wEar g & e
STHhT Rt STETATF ekt 3T FAAafeiaa 9= oht

% el

W =TI

\\\

\\\\
AN




=) mmd,// FOR MORE DISCOUNT VISIT Www.mahendras.org & USE PROMO cODE : E06321 /

Which crops were produced in the same
quantity in two different years?

ar fafirer gt # si=-dt ®wEet o A Uk

QU 0T U g2

(a) Rice and Jowar /dlddd 3T SR

(b) Jowar and Maize /SdRR 3T AT

(c) Rice and Maize /dldcl 3T AT

(d) Rice, Maize and Jowar /919, HahT 3TN AR
SATATH TiITeTeh- 1 6.09.2018 Ist Shift

c)
d)




=) mmd,// FOR MORE DISCOUNT VISIT Www.mahendras.org & USE PROMO cODE : E06321 /

The difference inquantity between the lowest
and highest production of any crop is
approximately:

ferdft oft waer o Fraw 3iR S=uau ST &
Sl ATAT T 3T Hia-hitel Tohd=T 87

(a) 10 tonnes /10 24

(b) 8 tonnes /8 24

(c) 800 tonnes /800 24

(d) 10,000 tonnes /10,000 24

SHTATH TIITaIh-16.0 92018 Ist Shift

c)
d)

HAS



=) mmd,// FOR MORE DISCOUNT VISIT Www.mahendras.org & USE PROMO cODE : E06321 /

Rice production figures between 2004 and 2007
show a:

2004 | 2007 & Sl SEaA ST b he g
AUCE S

(a) 5% drop /5%%Hl

(b) 55% drop /55%FH

(¢) 55% increase /50% g

(d) 5% increase /5%l Jig
ST FioTeTeh-16.09.2018 Ist Shift

b)
c)
d)

HAS



=) mmd,// FOR MORE DISCOUNT VISIT Www.mahendras.org & USE PROMO cODE : E06321 /

In which year was almost double the quantity
of jowar produced compared to the previous

ear?
%qa‘sfﬁc—cm hT SUTET TUSE a ki =T O
TRTAT &7 AT &1 T 912
(a) 2006 (b) 2007
(c) 2004 (d) 2005
SITATH YUidT8Teh-16.09.201 8 Ist Shift

a)
ae ©




=) mmd,// FOR MORE DISCOUNT VISIT Www.mahendras.org & USE PROMO cODE : E06321 /

In which year did maize register a nearly three
times increase in Eroduction?

TerehT oh IcdTed | ford a8 U o= U gfeg &
7

(a) 2005 (b) 2004

(c) 2006 (d) 2007

ST FidTeTh-16.09.2018 Ist Shift

a)
o ©



=) mmd,// FOR MORE DISCOUNT VISIT Www.mahendras.org & USE PROMO cODE : E06321 /

In which year did all three crops register an
increase inproduction over the previous year?

form oo o weft 9T wHAT o 3T ¥ fUse

T ht AT Jleg 85 87
(a) 2004 (b) 2005
(c) 2007 (d) 2006
SITATH ATITeTeh-16.09.2018 Ist Shift

b
:-11,. )
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Find the mode of the following distribution

frferiaga de7 o1 agas Ja Sifad —
Ug | SwrEar
10 8
15 12
20 18
25 16
30 10
35 9
(a) 15 (b) 30
(c) 25 (d) 20
oy =g faum, 2015
c)
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What is the central angle representing Study the pie chart given below and answer the

herry? following questions

=it T U Gt T T R *

(a) 75 (b) 60° T mmss-s?)ﬁ%ﬁq:m_ugmf
(c) 55° (d) 90° &1 3eFES Y fefafas goat & 39 e

Thedl (IE@uTeT UdiaT, 2
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If 45 children chose apple then how many Study the pie chart given below and answer
children chose orange?

‘ﬂﬁ:ﬂﬂﬁﬁﬁﬁﬂﬂm,?ﬁ'mﬁaﬁﬁﬁm frdor : (wom wEE 35-37) et fw o i W
=

T T W fATArEd gyl o I Sl

the following questions

(a) 70 (b) 60
(c) 30 (d) 140
TFael IguTeT THa, 2015
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If 45 children chose maximum banana, then how Study the pie chart given below and answer
many children were there in the group?

’ﬂﬁﬁaﬁ;}mmﬂ“*ﬁwﬁ frder : (o dE 35-37) e fow w i =
Fet fohat a=at & &1 3eIEe Y Prefatias goal & 3w St

the following questions

(a) 140 (b) 90
(c) 70 (d) 180
TFHaal Ut THaEm, 2015

Apples
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journey of a car in a period of 6 hours

6 U2 I 37afY H U HR S IET
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What was the distance covered by the car between A and B ?

A ¥ Bk Sl ST NI O oAl T3 T T 2ff?

(a) 100 ﬁ}‘"‘ ]ﬂ (b) 50 f‘% fﬁ jﬂur‘ney of a car in .a period of 6 hours
6 E¢ I Y H UHh HR HI IA
(c) 40 . 1. (d) T o

Thedl (@UTA TH&T, 2015




=) %Wd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

What was the distance covered by the car in journey of a car in a period of 6 hours

the whole journey? 6 S &t 37afy o Uh HI bl IMT
gt AT H I gRT I bl T3 if efi? T

(a) 100 fa. =t (b) 150 fe. .
(c) 250 f. . (d) 300 fa. .

Tchaldl TIE@UTeT ULtedr, 2015
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The average speed of the car between C and D was ?  journey of a car in a period of 6 hours

C 3T D o == I ot 3aa e ofi? 6‘6[@3&3]3"[@1‘&[{::})@{3?[3]3{[
(a) 65 foRHI./5UaT

(b) 50 fRHT./=UaT
(c) 45 feRHT./5UeT

(d) 3Tdh | H AT TBl  orewsidt SrguTer THET, 2015

A
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Study the following pie chart and bar graph and

answer the questions. Pie chart shows the number of
students in 6 schools.

e uE-=nd Ud A’ WM T TeTAT hich WAl Al
I S| UE-Te ©: Taareaat & faenfatat ot g @t

T 21 ferenfetat @ et HEAT—8500
Bar chart showing the number of girl students in the schools B A
w—ag? fererrerait # wramett @t Te gyiar B e o0 o 12%
800
600 — E
18%
400 —
200 —
C
0 20%
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How many students study in school D ?
fareTe™ D H Tehd BT Uad &7

(a) 780 (b) 800
(c) 840 (d) 850

AT Tl gaelT, 2015

farenfeiat et et HEaT—8500

Bar chart th? wing the number of girl students in the schools F e N
B 800 ﬁ W@ﬁ' qEen Q%lg?ﬂ %I 20%
600 — -
18%
400 —
200 —
0 —
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The number of students in school E is what percent less than

the total number of students in school A and B?

faemaa E | Tagmeli ot 9 &>m, [aEmad A Td B
ga oot faenteian st G ¥ Teha-T wiaeta oe
?

(a) 32% (b) 36%
(¢) 37.5% (d) 56.25%

3T AT aireITr, 2015
faenffat st et GET—8500
Bar chart showing the number of girl students in the schools - A

IR-TTE Taemeat o STHATRST et WE&AT TiaT §1 20%

800 730

600 —

400 —

200 —

0

-
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What is the ratio of the number of boys in school D to

the number of girls in school B?

g D W SHET ol 9T Ud fgameas B o
BTATS Tt WEAT ThT TJUTA FT 872
(a) 9:5 (b) 7:8
(c) 5:4 (d) 3:2
T3 11 9t adeTr, 2015
faenffat st et GET—8500

Bar chart showing the number of girl students in the schools N
T B BTG T T & 20% i
600 —
400 —

200 —

0

-
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A researcher collected the following sample data
Uch INelahdl A famfaiaa wfaeyt stichst ot
Tahizd Teha :

5,12,6,8,5,6,7,5,12,4, 1

(@) 6 (b) 7
(c) 3 (d) 5
T A@UT Tt eI, 2015
D)
C)

HAS

d)
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3TTST eh1 SheTT 3T TSIST
Arithmetic -5Q
Algebra -5Q)
Trigonometry -5 Qb)

-5Q  ¢)
0:4 S

a)
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A certain sum of money is invested in compound interest and it turns Rs. 8,400
iIn 2 years and in 4 years it becomes Rs. 11,760. Then find the initial sum.

s Afga afn cm ghdlea 1o UR 91 fhoar Sirdar g 3k 98 2 99 & 8,400 3R 4
gy T 11,760 39 5|G|Tcﬂ%|a URINS A J1d DI

RAILWAYS NTPC CBT-2

a) Rs.9,000

b) Rs. 8,000
c)
d)

Rs. 6,000

HAS

Rs. 5,000
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Difference between the compound interest and simple interest for 2 years is Rs.
20. Find the sum if rate of interest is 20% per annum.

gfc 2 9ul & fIU gehdls SA191 SR ATURUI TSl & d1d 3R 20 %. § | 98 A F1d

=3 0
PRI e =Irr 13T 20% Wk 74 &1

400 ».

a)
b) 200 9.

C) a0
HAS ¢
500 .
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Avesh is 40% more efficient than Rohit, Rohit is 25% more efficient than
Williamson. If Avesh can complete the work in 8 days, then Williamson will
complete it in how many days?

3991, Afed T 40% 3iferd <& 7, Afed, faferamas ¥ 25% siferd <& 71 afe sraw
D1 Dl 8 [l T U1 B Jbdl o, dl faferama= 8 fda faA1 § g1 ha?

RAILWAYS NTPC CBT-2

) A

]

a) 15 days
b) 25 days
c)

14 days
0 d)
11 days
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A survey of 70 students. 40% student like maths and physics both subject. 10%
students don't like any subject. 20 students only like physics subject. How many
students like only maths subject.

70 faenfal & U Tderr §, 40% = o ok wiifet <l faw avig $vd B
10% =il &1 Big o fawa udie qel g1 20 faenfai &1 dad Uifdat [dvg i

o foaa faemedt Had nfvrg favyg i &d §

b 15
)
SHAS o
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Pipe number 1 can fill the tank in 5 h and pipe number 2 in 10 h. Pipe number 3
can drain the water and make empty in 7% h. If all the three pipes are open all
together, then the time required for filling the tank completely would be

qigy I 1 ¢ Dl 5 °¢ H 3R UIgy I\ 2, 10 H¢ H W Idbd o | 9ISy I3 3
Ol & Td dR e D 7% g¢ H JIcll HR gdbdl ol Ale il 9igy &l U 91y Jldl
Sl g, dl < Dl IR aRe o HRA H fhd-1 0y T

RAILWAYS NTPC CBT-2

HAS

None of these
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Find the mode of the given data:

3,95,8,7,6,2,4,6,4,9,5,3,4,2

[SU U 3{[H S| DT ggdd F1d IS

3,5,8,7,6,2,4,6,4,9,5, 3,4, 2
b)
c)
d)

w s~ O O

HAS
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If the sum of interior angles of a polygon is 1800°, find the number of sides of
the polygon.

gic fodl agYS & 3{d: HIVI BT INT 1800° B, Al dgHSl Pl YollS{i B AT 14

P
RAILWAYS NTPC CBT-2

10
a)
b) 11
C) 12

0:4 SIS
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If 20% of X is 30 and 35% of y is 70, then find the value of (X + y).

gfG x & 20% BT HM 30§ 3Ry & 35% BT HAM 70 &, 49 (X + y) BT HMH A
Hiford |

RAILWAYS NTPC CBT-2

350

a)
b)

C) 500

450
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The values of x and y in the given figure are respectively

[

&l 115 3M1dbfd T x 3R y o HIH hH: H1 5?2

50°, 80°

90°, 50°

70°, 50°

40°, 80°

o0
@hﬂ RAILWAYS NTPC CBT-2
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1. In a triangle ABC, AB=AC, ZBAC = 40°,
then what is exterior angle at B.
v Brafet ABCH AB =AC, LBAC = 40°,

dr BUR WET HIvr fbdem aom ?

(a) 90° (b) 70°
(c) 110° (d) 80°

RAILWAYS NTPC CBT-2
v

c)
d)

HAS
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2. In a triangle ABC, AB = BC. What is
exterior angle at Cis £A = 50°.

s Brger ABCH AB=BC® CWR, dEIT BVl
garsd afe 2ZA = 50° & ?

(a) 110° (b) 115°

(c) 120° (d) 130°

c)

0:4 S
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3. In a triangle ABD, ZADB = 20° and Cis a
point on BD such that AB = AC and CD = CA,

then £ZABC =7
el ciifore Brefer ABDH 2ADB = 20° 3R C,

BD W us v fisg €, forret AB=ACdem CD
=CA®?, @ £ABC &1 & e gom?
\

(a)40°  (b)45°
() 60° (d) 30°
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4. In a triangle ABC, AB = AC. Side BC is
extended to a point D in such a way that AC
=CD, if £BAD = 84°,then «BAC =?

frger ABC#, AB=AC?| 53 BCat Das
3T UPR T 9=m & f& AC = CD & |
degrR ufe £BAD = 84°, & +BAC f&asn

&lor ?

(a) 32° (b) 48°
(c) 42° (d) 52°

]
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5. In a triangle ABC, base BC is extended
from both ends, then what is the sum of
exterior angles at B and C?

Iafe Mt Brejor ABC 3, amgr BC &I &t 3R
91 f@=m one, ar Baegr C Uz asd HIvi Bl

AOTGeT B0 ?
(a)P-A (b)r+ A
(c) >+ A (d) r — %

RAILWAYS NTPC CBT-2

d)

HAS
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1

cosecA+cotA

)2&HT WIATH AT F4T g9 ?

What is the simplified value of (
( 1

cosecA+cotA

) ?

(a) secA+tanA (b) (1-cosA)(1+cosA) (c) (1-cosecA)(1+cosecA)

RAILWAYS NTPC CBT-2

b
c)
d)

(d) sinA

HAS
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if cnsZB-sinB% , then what is the value of sin9?

gfe cnszﬁ-sinB%% dd sin® &T AT ATA hiAT ?
@ -1 (b) % o1 (d) 3/2

RAILWAYS NTPC CBT-2
d

b)
c)

0:4 S
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What is the simplified value of tang +cutg ?
tan; +cot>. FT FXATH AT FAT FRIT 2

(@) 2cosec®@ (b)2sec® (c)sind (d) cosecO

a)
b)
c)

0:4 S
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What is the simplified value of [(sec3x-tan3x) /(secx-tanx)] - 2tan?x-

secxtanx?
[(sec3x-tan3x) /(secx-tanx)]| - 2tan?x-secxtanx I HIeTdH HTeT FIT
g1 ?
(@ O (b) 2 (0) -1 d1
a)
b)
c)

0:4 S



=) %Wd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

1

What is the value of cot45°- Ecusecﬁﬂ"?

cot45°- %msecﬁﬂ" FT HTT FAT 9T ?

1

@ = (b) % © 7 (d) 1/3

0:4 S
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a)
b)
C)
d)
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a—b

If a + b> = 80 and ab = 32, then calculate the value ufm.

IfE a2+ b2=80 3T ab = 3za’r %maﬁrmaﬁﬁm

0:4 S
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: 1 |
What is the value of x’-— +8 when 8x—>_16=07?

¢ - 18 F AT F4T §, AR 3.1'—%—16:0 g2
(A) 16 (B) 8
(C) 6 (D) 22
b)

0:4 S
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128

.What is the value of the expression &’ 5+, when a=2?
A& a=2 § @ o' -5+ > FT AW F 7
(A) 2 (B) 5
(C)7 (D) 8
a)
b)
c)

0:4 S
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What is the value of

3

a” + b-

a> — b’

a> + b’

3
d

FT AT FAT &, IId a+b

HAS

(A) 0.347

(C) 0.313

a)
b)
C)
d)

b3,whena+b=33nda—b=2?

(B) 0.368
(D) 0.381
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Find the value of x |f\j _13 .
324 18
. X 13
X $T AT AT N, IS Jl‘ﬁ‘m%
(A) 155 (B) 157
(C) 159 (D) 161
b)
C)
HAS o
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